PRODUCT INFORMATION / ®&RiEHR

- BEAE ¢ FI-UBE

- BUEEER : L(5—>)

- EYEEEE XA [EmHEE

-h3—- 2=

- TP YALYNMURTFTUSI L33 CEHRIZEVN BEIRNSD
SAGEMBERFVLET.

Features / ¥5#4:

- FT7RS4T55F 1 DIRIE

- J)-ZANTOE/I> M-I RT A

- ZAEOEEICKDHIEEINDREN T fE

05/2024/V1

%SilentGliss



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. SYSTEM
DIMENSIONS /
SAT L EEEHE

B. PROFILE / L =)L

L-ILoIEER

C. HOW TO
MEASURE /
BIEFE

FITTING /

A. FITTING
INFORMATION /
BRI

T3y NBEDAIE

T
4 max.—» max. I( m’
; g..
4m 6m 5 kg 16 m2
15 7 6 3
p— 7 =y piy
1] () O
j v
SG 2211 SG 2004 SG 2111 SG 2135
ALoOL—)b NN - RESTIN FrAI =TT ZAF )L
OvRk g 3 mm
- A N A: RIS
\ ] B: BlREs
p C: BfEFI—>nRS
7
% D T—I5 U544 — SG 10731 DEBZFRN5150
— Ay cmMLEOMBEHER (FroLke-T7 ()
C
B
(]
v 1
D
3
7
Uy T
VAI=R:C b rar

FHRRFRERRCOOVTE. HHASBEVWEDEE
(AN

100 max. 700 max. 700 100

- :

L [ ]
* BAATIE max. 500 mm £R20DFT,

%SilentGliss

SG 2120



B. CEILING
FITTING /
KHF=E

T345yh - SG 3603

C. WALL FITTING /

IEHEEERIE
A=Y T30k

- SG 3655,
SG 3660

AN—NI49IR
(FRENER)

SG 2120

min. 50

CIERRRICEDEER

7 T

CIEAERCEDEIEM

CRRECIZEN

ERIECIZEW

SG 3655
I=N-9) T34y bO>d
50 mm

7

[

SG 3660
AZNX-YILTSoyRIFZ
30>%4 65 mm

ANX—hI19IR SG 11200 - SG 11204 &

T34k SG 3603:

BB NILMRS SG 10492 (M4x8)

%SilentGliss

Universal Bracket / 1=)\=4),J5ovk X mm
SG 3655 58
SG 3660 73
Smart Fix / AX—KI4YIX X mm

SG 11200/ SG 11210 80

SG 11201 /SG 11211 100

SG 11202 / SG 11212 120

SG 11203/ SG 11213 140

SG 11204 /SG 11214 170

SG 11156 212 - 240




7

X

ﬁ

AD)I7—-AI-RI19IX SG 11210 - SG 11214

&I37vhk SG 3603:

MHEEG NILMRS SG 10492 (M4x8)

7
I e—

X

I-)N-YINAI—RI19IASG 11156 &

I3k SG 3603:

WHEERG NILMRS SG 10277 (M4x12)

~) ) PR
N ) \
<<
%{ 62
~y
SG 3603 SG 10277 SG 10492 SG 11200
RHEATS5v +FARIRIV DRSS Mdx12 +F ARV MRS M4x8 AN—RI4wH Ay E 60 mm

~ PN P T
80 S 100 S S o
& / 120 150
A 4' \6AZ \/I \:2 </ \6A2 </ \6‘2
g J (3 J % N P N
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN—=NJ4wI Xy 80 mm

AN—=NJ4wIRyh 100

AN—=NJ1wIRtyh 120

AN—RI1wI Aty h 150

607 80"\ S N
L2 > 00 X 1207 X
~16/ I M \16/ I % s \/ I %o \/ I !

o Ne<
SG 11210 SG 11211 SG 11212 SG 11213

60 mm

ADIFP AR —RI4wI Xty b
80 mm

150/\
/~| 200 \‘
29 62
~y
% / \A”
%<
SG 11214 SG 11156

ADIT A —RI1wI X2y b
150 mm

IZN=HYILAN—=RI1vI X
vk 200 mm

%SilentGliss

ADIT AR —RIT1wI Xty b
100 mm

AJIFP AR —RI4wI Xty b
120 mm

SG 2120



SYSTEM OPTIONS / AT LAATZ3>

A. FABRIC MAKE- ZALIVCEET2IBIRIG'O0-<>T AR 11— R25A
UP / "% CHESRIEE L
—L (TL—>Z54) S =T 24— R91 ) A=
J7TWWID A4 ZNITSR94). etc)

fEFAE

ML
SG 2120 ~& SilentGliss



PARTS / 5Bam

A. STANDARD PARTS / BR#E8Bam

B. OPTIONAL PARTS / A7 3 8B

SG 2049 SG 2004 é\» SG 11200

FI-YR347 / FBEA(R VIS > A= RI4wHI2EZy bk 60 mn
~J

SG 2059 SG 2093 > SG 11201

v—IF749T / S TRy V) < A= KTy 2y 80 mm

Ji—

SG 2081 SG 2135 SG 11202

FAITYTRT = / A—=LFTR
BN

FrAIRE—TJ74AF=)LOvE g
3 mm

AX—NJ4vIZyh 100 mm

5G 2111

NEIYIN

S5G 2136

Fr A RE-I740vRT—T

S5G 11203

AN—=RJ1wIZzyh 120 mn

5G 2163 S5G 2164 S5G 11204

-7 UDZE P AX—=hI1wIAtzyh 150 mm

SG 2179 SG 2539 S5G 11210

IYRAN- -7 ADLITAX—bI19IALzyh 60
mm

SG 2211 SG 3069 SG 11211

~N)Lyab-Jb

FrAILRE—TF4 TALYk

ADIT AR —KIT4wIxvh 80
mm

SG 2865 SG 3164 S, SG 11212
E—RFI->T%75— 0 4.6 m FrALRE—T74 J9otvh / | 2TPAR-FIrs02vh 100
(X5)) < mm

SG SG 3165 = 5G 11213

E—RF1—> 0 4.6 mm

FrALRE-T574 PALyI YR

AIDIPAI =TI Ay b 120
mm

SG 3055 SG 3603 5G 11214

TIvARITVY KHAAT 5w b % ARIDIPA—bI4vIAzyh 150
mm

SG 3340 SG 3660

T2IVIVIA

A== TFybIFZN50>
2 65 mm

SG 3605

I>RAN-

SG 10277

+FNRIVDRS M4x12

SG 3655

AZNX—=H)LTS45yO>%5 50 mm

SG 10492

+FRRILBRS M4x8

S5G 10731

FrAIRE-T7¢1 U/ -tk

SG 11156

IAZN=HIAY =R I1wh Aty
200 mm

o

%SilentGliss

SG 2120



ML
SG 2120 ~& SilentGliss



%SilentGliss SG 2120



	SG 2120
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールの情報
	SG 2211
	SG 2004
	SG 2111
	SG 2135


	 How to Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	ブラケット - SG 3603
	SG 3603


	 Wall fitting / 正面壁設置 
	ユニバーサルブラケット - SG 3655, SG 3660
	SG 3655
	SG 3660

	スマートフィックス (補助金具)
	SG 3603
	SG 10277
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Fabric make-up / ファブリックの スタイル仕上げ方法 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



